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In a certain multiple access system, assume that all transmitters are at the same distance, except two of them, and these are 
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If the effective bandwidth is 25 MHz and the message bit rate is 20 kbps, propagation exponent (=3.73, Eb/No=15; (SNR)o=10. 


(a) How many active users can the above system support?

(b) If one particular user elects two times closer (other than user 2, 4), how many overall users will the above system support?

(c) Is it possible to regain the original number of users by increasing the signal to noise ratio (SNR)1 = If so, how much more signal power would be required?

(d) If the nth user decided not to move two times closer, but instead many times closer, how close would that user have to come to cause the system to fail as multiple access system, assuming the original value of (SNR)1?

(e) If we now desire to have the original number of users, how much lower (SNR)o would we have to tolerate?
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ANSWER: SNR1=2Eb/No=30;
�
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